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s 40 but, otherwise. instead, rather, too... to... A
] 1 M: Mr. Brown asked me 1o tell you that he's sorry that he can’t come
to meet you in person. He is really too busy to make the trip.
W. That's OK, I'm glad you've come in his place.
Q: What do we learn from the conversation?
A) The woman is glad to meet Mr. Brown in person.
B) The woman feels sorry that Mr. Brown is unable to come.
C) The man is meeting the woman on behalf of Mr. Brown.
D) The man is late for the trip because he is busy.
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Brown AHEE A2k W& 1, M 455 Al A1, B 488 Mr. Brown % it
B CY i on behalf of sh(ft3H A) 55 in one's place [8 X . #3k O,

1 2 M T think you’d better find another partner. T love table tennis,

but T don’t think I’m improving. ,% Et\
W Look. Paul, it’s still to0 early to 100 early to quit Very expects you to

be a superstar. Just keep going and you’ll get the hang of it.
Q: What does the woman mean?

A) The man should not dream of being a superstar.

B) The man didn’t practice hard enough.

() The man should find a new partner.

D) The man should not give up. 10312,07]
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. M: The food in this restaurant is horrible, if only we’d gone to the
school dinning hall.
W: But the food isn’t everything, isn’t it nice just to get away
from all the noise?
Q: What can we learn from the conversation?
A) It’s quiet in the restaurant.
B) The price is high in the restaurant.
C) The restaurant serves good food.
D) The restaurant is too far from their school. [0312,03]
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1 1 W, I just can't believe this is our last year. College is going by [ast.
M. Yeah. we'll have to {ace the real world soon. So have you figured a-
bout what you are going to do after you graduate?
Q: What do we learn from the conversation?
A) The man is worried about his future. -
B) The two speakers are seniors at college. E ﬁ3
) The two speakers are at a loss what to do.
[ 1 me i @Jd’l’d [0406 09:|

D) The woman regrets spending her time idly.
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fiij 2 W. I'm going to drop my information science class. It meets too carly in

the morning,

W. Is that really a good reason to drop the class. Tony?

Q: What does the woman mean?

A) Tony shopldacontinue taking the coursc.
B) She approVe3¥f Tony's decision.
() Tony can choose another science course.
D) She can't meet Tony so early in the morning. Fos01,02]
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a. Where does this conversation probably take place?
b. Where did it happen*

c. Whereis.,."?

d. What kind of store is she going to?
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5] :W: Can I help you. sir?
M. Yes. Can you show me the way to Gate 9 for Flight 901 to Hong
Kong? I am quite confused here,
Q: Where does the conversation most probably take place?
A) At a booking office. B) In a Hong Kong hotel.
C) On a busy street, D) At an airport. [0312,04]
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'ﬁ H “h
a. When does the conversation take place”’
b. When does the man want to leave? ) L
¢. How long did it take the man to write his paper?
d. When did the football match start?
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). M. So. when are the other guys going to get here? The train is
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leaving in ten minutes. We can't wait here forever.
W. It’s ten thirty already. They are supposed to be here by now. 1
told everybody to meet here by ten fifteen.
Q: When is the train leaving?
A) At 10.25 B) At 10:30 C) At 10:45 D) At 10.:40
[ 0406 .03 ]
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What is the probable relationship between the two speakers?
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. W. John, what are you doing on your computer? Don't you remember
your promise?
M This is not a game. It's only a crossword puzzle that helps increase
my vocabulary.
Q: What is the probable relationship between the speakers?
A) Husband and wife B) Mother and son.
C) Employer and employee. D) Colleagues. [0212,03]
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a. What’s the woman’s job?
b. What’s the profession of the man?
¢. Who is the woman probably speaking to?
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ffl: W. Excuse me, sir. I°m going to send this parcel to London.
What's the postage for it?
M: Let me sce. 1t’s one pound fifty.
Q: Who is the woman most probably speaking to”
A) A railway porter., B) A taxi driver,
C) A bus conductor. D) A postal clerk. [ 9706 .05 ]
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a. What do we learn from this conversation?

b. How does the man feel about his job?

c. What did the man do last night?

d. Why can’t Professor Hill answer her questions now?

il 1 W. Frank, I thought you were working in New York.

M: T was, but {'ve moved back. Tjust couldn’t get used to living in a big
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city. So here Tam. back in school, taking courses for a teacher cer-

tificate,

Q: What is Frank planning to do?
A) Become a teacher. I3) Go back 1o school.
C) Move to a big city. [)) Work in New York.

[0406,05]
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fil Sz 32 24 AD R a1 ¢ IR flAS ST BRI T A S AR TE LR
LRI B2 H% Crake courses for a teacher certificate) « g1 S HE Wi F ) 55 Y
H— 2 OB O A
] 2 M. If you aren’t doing anything particular. shall we sec the new play at
the Grand Theater tonight?
W. Sounds great. But I've got 1o go over my notes for tomorrow’s midterm.
Q. What does the woman imply?
A) She has 10 study for the exam.
BB) She is particularly interested in plays.
C) She's eager to watch the new play.
D) She can lend her notes to the man. [0501.,03]
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What does the man/woman mean?
51 W So you finally listened to your wife's advice and gave up smoking.
M: Tt was my doctor’s advice. T was sulfering [rom high blood pres-
sure.
Q: What do we learn from the conversation’
A) The man refuses to listen to his doctor’s advice,
13) The man is under pressure {rom his wifc.
() The man usually follows his wife's advice,
[2) The man no longer smokes, [ 0406 . 04 ]
[AE]1 D, REHTM, L LR 2P LT85 8m .
H 91 BRI T B A 245 . BT D) 5 B AHTT . no longer smoke #1M
give up smoking, m‘]{% .
fiif 2 M. Allen is in the basement trying to repair the washing machine,
W Shouldn't he be working on his term paper?
Q: What does the woman think Allen should do”
A) Move the washing machine to the basement.

B) Turn the basement into a workshop.

&‘ C) Repair the washing machine.

1)) Finish his assignment. %ﬁ‘f& L0501 .06 ]
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a, Why don’t you. .. ? d. How about. . .7
b. Why not. .. ? ¢. Wouldn't, . . be wiser?
c. Why bether. .. 7 f. Would. .. do?
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